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1m = 100cm
24 1m? = 1m X 1m = 100cm X 100cm
= 10000cm? YUYt
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1ha = 100a = 10000 m?
35 ha = 3500a = 350000 m2 Yt}




> Hehl 0.008

1km? = 100 ha = 10000a = 1000000 m?
80a = 0.008 km?
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5.6 ha = 56000 m? < 550000 cm?
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@ 6t = 6000000g @ 500kg = 04t
(@)120000 g = 1200 kg @ 0.03kg=30g
® 7000g = Tkg

1t = 1000 kg = 1000000 g
® 120000g = 120kg
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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9 X 6 = 54(km?) = 5400 ha
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90000m?2=| |ha=| Ja=| |km?

1km2 = 100 ha = 10000a = 1000000 m2
90000 m2 = 9 ha = 900a = 0.09 km?
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1km? = 100 ha = 10000a = 1000000 m?
(1) 14a = 1400 m? = 0.14 ha
(2) 20.3km? = 2030000 m? = 20300a = 203 ha
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@D 330a=3.3ha
® 540000m? = 54 ha

® 1.7km? = 17000 a

@ 20ha = 0.2km?
@6.1 ha = 6100 m?

@ 6.1 ha = 61000 m?




16. 9] Afole] TAZ Hr A Lepl AL o AU
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@350 kg+4.7 t=820kg

® 570000¢g + 0.043t = 613 kg
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@350kg + 4.7t = 350 kg + 4700 kg = 5050 kg
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® 1300kg = 1.3t @o.m =170g

® 5630000 g = 5630 kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g
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2.8t = 2800 kg
S AARS] A1 2800 + 200 = 14( kg)
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36 x 500 = 18000(kg) = 18(t)
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32 x 450 = 14400( kg)
— 14.4¢
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(90 + 120) x 80 = 2 — 50 x 40 = 2
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= T74(a)
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1000kg = 1t
2200kg = 2.2

860 + 340 + 720 + 280 = 2200( kg)
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= 95 x 60 = 5700m? = 57a
12.54t = 12540kg

1a 9] 7] = 12540 + 57 = 220kg




